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Part A

_Anmar all guestions.
Weightage 1 for a bunch of 4.

1. For a positively skewed frequency curve, the inequality that holds is :

(a) Q +Qs>2Q,. (b) Q +Qq>2Qs.
|:¢} q1+Q3.}Q=, (d) %“Q;*Q:-
2. The value of coefficient of kurtosis f; can be :
(a) Less than. {(b) Greater than 3.
(¢} Equal to 3. (d) All the above.
3. Ifall the plotted points in a scatter diagram lie on a single line, then correlation is :
(a) Perfect Positive. (b) Perfect Negative.
(c) Both (a) and (b). (d) None of the above.
4, If p=1, the angle b-atwaaﬂﬁmtwullnmufmlﬁ“m
(a) Zero dEErEE (b) Ninety degree.
:] Sixty (d) Thirty degree.

2 mbﬂaxpﬁlﬂdu'

5. In the usual notation R, g

(a) 1.,(1_,-;)[1.-:-1;}. (b) 1-(1-r1',}{1+rm].

@ (1-na)(1-ns)
© (1-r)(-rs)
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L1 T,

2
officient £ €an b testeq by,

i ci
{a} ¢ test, (o) ztest.

(e} o2 test. (dy F-teal

7. Trend in a time geries means :
{al Long term regular movement.
(b} Short term regular movement.
(¢) Both (a) and ().

{d} Netther {a) nor (b
8. For the given five values 165, 24, 18, 33, 42. The three yearly moving Averagha dre :

(a) 19, 22,38. by 19,2531
(c) 1% 30, 31. td} MNone of the above.
9. Control charis consgigt of
(&} Threecontrollines. - () Upper and lower controt lines.
{c) The level of the process. | {d} All the akove.

14. The control limit for ‘C’-chart for equal size samples are grven ay :

(8) UCL=0+8vC, CL=Cand LCL=CG—3+/C.
(b) UCL=0++2C,CL=2Csnd LCL =0 _ 20,
(¢) UCL=C+2+C,CL=Cand LCL=0-2G.

@) UCL=C+2vC.CL=Cand LCL=F-2G.

11. The underlying assumption in the analysis of variance technique is :
{8} The cbservations are correlated randpyg variables,
(k) The ohservations are wn-corvelated random variables.

{¢} The chservations are independent random vari abios
{d) None of the above.
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13.
14,
15.
16.
17,
18,
19,

21,

. Give five situations in W

(a) F-statistic,

C 81

(B o2 statistics,

(12 x % = 3 weight:

(e) t-statistic,
(d) None of the above.
Part B
AMH-'_EF all guestions.
_ Weightage 1 each,
What is meant by kurtosis 2

What is principles of least Bquares 7

What are the limits with in which the correlation coefficient can vary ?

Define partial correlation

What are the demerits of ratio-to moving average method ?

coefficient,

Give the merits of the simple average method.

Write the control limits of d-chart.

What is meant by quality

of a product 7

Write the observational equation in the case of one-way classification.

. Obtain the different method of meast

Obtain the procedure for fitting the curve
te rank

Derive the formula for Spear! RE

Explain cyclic variation-

. How will you prepare the

h

Discuss the analysis of on

Part C

Answer any five questions.
Weightage 2 each.

ring skewness.

control charts for

. 1 C-charts can be used:

- daﬂﬂiﬂcatim-
2=

(9 x 1 = 9 weights

ftthﬂl'm}'=“+b*

correlation coefficient.

fraction defectives ?

(5 x 2 = 10 weights
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Part D

Angwer any two quﬂ;ﬁuns.
Waightage 4 467

2

2 .o the veriences ofx.yend,
ﬁ: + a0 1—'.'.!',:_:,. hﬂfﬂuglﬁg .ﬂ.“.d u:':"
25, Show that r = . w z

reapectively.

y
ey, oy,

; time saries.
30. Explain the varlous methods for obtaining trent In

21, Provethat nay =

(1arua“}[1'mﬂ).

mxi=ﬂv;elghtuq
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